STRAPROM ..o.0.

A (P63)
N P
M2 H9 N4 79 16
56.5 X
. 4>4'<— - f—l_\
= 74( 4( u I #”7———’—\ 77 Q*F[ BONFI‘ %
NS=E% ) F ——HEl & '® 3
| Lwe N e W IR
e | ey INZ) o
N1 —— 5 L o 1] =
e S 1
s
7.5
144
LD
[ LD M M1 M2 N N1 N2 N3 N4 X J o
F4123 | P63 215 11 12.8 4 140 | 115 95 — | mex19 | 4 246 2
Fa123 |PT 215 14 16.3 5 160 | 130 | 110 — [ Mex16 | 45 | 246 42
F4123 | P80 231 19 | 218 6 200 | 165 | 130 —  |W0x145] 4 | 2655 | 43
F4123 |P90 231 24 | 213 8 200 | 165 | 130 — |M10x145] 4 | 2655 | 43
F4123 | P100 231 28 | 313 8 250 | 215 | 180 — |Mi2x16| 45 | 2755 | 47
Fa123 | P112 231 28 | 313 8 250 | 215 | 180 — |Mi2x16 | 45 | 2755 | 47
F4123 | P132 — 38 | 413 10 300 | 265 | 230 16 14 5 312 50
Fa14 | P63 — 11 12.8 4 120 | 115 95 — | Mex19 | 4 3075 | 44
Fa14 PN — 14 16.3 5 160 | 130 | 110 — | M8x16 | 45 | 3075 | 44
F414 | P80 — 19 | 218 6 200 | 165 | 130 —  Iwiox145] 4 327 45
F414  |P90 — 24 | 213 8 200 | 165 | 130 —  |Wiox145] 4 327 45
F414 | P100 — 26 | 313 8 250 | 215 | 180 — |mi2xi6| 45 | 337 49
Fa14 | P112 — 26 | 313 8 250 | 215 | 180 — |mi2xi6| 45 | 337 49

79 E 16
56.5 F4
F2 h9 = e F3 fl*
_ E‘[7 —lgq} ¢ -;—
z ] = |
N "’fus sm
v © ‘.LJF’_’ — = = J/
T ® ; ; Llwe
Fre & o 5 ® 3
N - OIS
E '
I35 13017
75 165
DU LB 200
242
‘ & A E F F1 F2 F3 F4 v Jico)
F412 335.5 50 24 27 8 2.5 45 M8x19 44.9
F413 HS 335.5 50 24 27 8 2.5 45 M8x19 46.4
F414 357.5 40 19 215 6 2.5 35 M6x16 43.5
@ Bonfiglioli 423/ 582

Riduttori



STRAPROM d.o.0.

H40 H45 @
STANDARD
12 14

43.3
48.8
40
|

30 30
30| ‘
40 G7 45G7 12057 111125
144
200
75
Q
485 82 485 14.5Nm (
/ [ — + o

I

|
\
\
|
\
\
H
g
|
=
160

~
o
<
<
125 118.5 &
80
12 h9 5 .70 iR -
‘ ‘
’ —
2| _ _ [ I
| M12x28
40 he
218
255
M5-6Nm 53 1125 46 M6-10Nm

N |

QF45 45 e
/!\ F41QF42 | 850
[Fa1QF45 | 1000
10 ' 4
3
,+ +
s S| M 71777}
< ® [H
32.5
* Follow the MOUNTING INSTRUCTIONS supplied with the gearbox.
@ Bonfiglioli 495 / 582

Riduttori



